
1 2 3 4 5 6 7 8 9 10 11 12

1 दधू मे गाय 86 0 0 86 0 8 3 0 0 75

2 शुçक गाय 46 0 3 49 0 10 0 0 0 39

3 Ĥͧश¢ण हेतु 15 0 0 15 0 0 0 0 0 15

4 औसर 154 0 4 158 0 2 0 0 0 156

5 मादा बÍचे 63 0 0 63 0 0 4 0 0 59

6 सांड बछड़े 6 0 0 6 0 0 0 0 0 6

7 नर बÍचे 35 0 0 35 0 0 0 0 0 35

405 0 7 412 0 20 7 0 0 385

1 दधू मे गाय 4 0 0 4 0 0 0 0 0 4
2 शुçक गाय 1 0 0 1 0 0 0 0 0 1
3 औसर 9 0 0 9 0 0 0 0 0 9
4 मादा बÍचे 0 0 0 0 0 0 0 0 0 0
5 नर बÍचे 2 0 0 2 0 0 0 0 0 2
6 सांड बछड़े 0 0 0 0 0 0 0 0 0 0

16 0 0 16 0 0 0 0 0 16

दधू मे गाय 10 0 0 10 0 0 0 0 0 10
शुçक गाय 19 0 0 19 0 0 0 0 0 19
औसर 19 0 1 20 0 0 0 0 0 20
मादा बÍचे 11 0 0 11 0 0 1 0 0 10
नर बÍचे 3 0 0 3 0 0 0 0 0 3
सांड बछड़े 4 0 0 4 0 0 0 0 0 4

66 0 1 67 0 0 1 0 0 66

दधू मे गाय 1 0 0 1 0 0 0 0 0 1
शुçक गाय 0 0 0 0 0 0 0 0 0 0
औसर 19 0 0 19 0 0 0 0 0 19
मादा बÍचे 1 0 0 1 0 0 0 0 0 1
नर बÍचे 0 0 0 0 0 0 0 0 0 0
सांड बछड़े 0 0 0 0 0 0 0 0 0 0

21 0 0 21 0 0 0 0 0 21

508 0 8 516 0 20 8 0 0 488

1  गाय 18 0 2 20 0 0 0 0 0 20
2 सांड @cSy 100 0 15 115 0 0 0 0 0 115

118 0 17 135 0 0 0 0 0 135

1  गाय 6 0 2 8 0 0 0 0 0 8
2 सांड @cSy 12 0 2 14 0 0 0 0 0 14

18 0 4 22 0 0 0 0 0 22

1 गाय 0 0 0 0 0 0 0 0 0 0
136 0 21 157 0 0 0 0 0 157

644 0 29 673 0 20 8 0 0 645
* TWH - TRANSFER WITHIN THE HERD.
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